HW: Section 4.6 p. 271 #9-23
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Identify the domain and range of each relation. Use a mapping diagram to ® See
determine whether the relation is a function.

8. {(3,7),(3,8),(3,-2),(3,4).(3,1)} 9. {(6,-7), (5, -8), (1,4), (7,5)}
10. {(0.04,02), (0.2,1), (1, 5), (5,25)} 11 {(4,2),(1,1),(0,0), (1, -1), (4, -2)}
Use the vertical line test to determine whether the relation is a function. ® see
. 1. 1a. 1.
P R 3 A Y 5. R f7
AEREF X
,al 17 =2 2 =3 DL 7 =210
Z1) 16. Physics Light travels about 186,000 mi/s. The function d(r) = 186,000¢ ® See
gives the distance d(1), in miles, that light travels in t seconds. How far does light
travelin 3057

17. Shopping You are buying orange juice for $4.50 per container and have a gift card
worth 7. The function f{x) = 4.50x — 7 represents your total cost f{x) ifyou buy
xcontainers of orange juice and use the gift card. How much do you pay to buy
4 containers of orange juice?
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Find the range of each function for the given domain. ® see
18, f0) = 20 - T {-2,-1,0,1,2) 19. g(x) = —4x + 1;{~5,-1,0,2,10}

20, h(x) = % {~12,0,02,12,4} 21. /() = «x—a;{ z,,,”}

Find a reasonable domain and range for each function. Then graph the function. 49 See

22. Fuel A car can travel 32 mi for each gallon of gasoline. The function d(x) = 32x
represents the distance d(x), in miles, that the car can travel with x gallons of
gasoline. The car’s fuel tank holds 17 gal.

23. Nutrition There are 98 International Units (IUs) of vitamin D in 1 cup of milk. The
function V(c) = 98¢ represents the amount V{(c) of vitamin D, in IUs, you get from
ccups of milk. You have a 16-cup jug of milk
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9. domain {1, 5, 6, 7}, range

{-8, =7, 4,5}, yes

10. domain {0.04, 0.2, 1, 5}, range
{0.2, 1, 5, 25}; yes

11. domain {0, 1, 4}, range
{=2,-1,0,1,2}: no

12. not a function 13. not a function

14. function 15. function
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16. about 5,580,000 mi

17. 511

18. {~11, -9, -7, -5, -3}

19. {-39,-7,1,5,21}

20. {0, 0.04, 1.4, 16}
21.{-7,-2,-1,3}
22.0=x=17,0=dKx = 544
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23.0=c=16,0=D(c) = 1568
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